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1. Answer the following questions : 1x10=10

mem:

(@)

(b)

()

()

(e)

C16/36

What is a concrete class?

Concrete class &7

What is to be done to make a data member static?

Data member 5] static FIE qHE % 39 =R ?

Observe the following C++ code and write the name(s) of the
header file(s), which will be essentially required to run
it in a C++ compiler :

@l C++ code b1 SEME T T I TR 9P CH+ TS run
+R39 I o 24@s (@[l header e (TR THOHR) ol .

void main( )
{ char Text [80], C;
cin>>Text;
C = tolower (Text [1]);
cout<<C<< “is the second char of” <<Text<<endl;
What is linked list?

Linked list 2

What is meant by base address of an array?

=@ <O base address e 6 3@ ?

What is data model?
Data model &2

( Continued )
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(9) Why is DROP TABLE command in SQL used?
SQLI DROP TABLE command & 952} 391 25 2

(h) Why is an inverter also called a NOT gate?
Inverters 51 NOT gate 3Ifie @1 232

() What is a Karnaugh map?

Karnaugh map 7

() Define the term ‘firewall’.
‘Firewall’ “ib 91 34 |

2. Answer the following questions : 2x10=20
SO ZEPTRs Ued il

(a) What is base class? What is derived class?

Base class 7§ ? Derived class &2

(b) What do you understand by polymorphism?
Polymorphism 3f=icet < IR 2

(c) What is a default constructor? What is its role?

Default constructor % ? 2R $R %2

(d) Why are binary files faster and easier for a program to read
and write than text files?

2N @OF A [N Binary FREPHR Text FREPHZSE AN WIF
IR Crae woey wiF @R few = 2
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() How does a member function differ from an ordinary
function?

Member function @bl ordinary function <5 *[[ ¥ BRI

(f) Differentiate between data type and data structure.

Data type W data structured I 19 v |

() Draw a logic circuit diagram for the following Boolean
expression :

=TS fiedl e R I A kS fog i -
F=WX+YZ
(h) 1If the values of A, B and C are given as A=1, B=0, C =1,

then find the value of X after evaluating the following
Boolean expression :

At A, BRI CIAPR A =1, B=0, C =12, (a1 woi e
BRSSP E R CRECHE I

X=A-B+B+C

(1) Verify the following algebraically :

ST o ICH! A= 1
(A’+B)-(A+B)=A’-B+A-B’

() What is the difference between virus and worms in the
computers?

FHTHR® virus ¥ worms 3 &9 AL 52
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3. (a) Find the syntax error(s) (if any) in the following code and
correct them : 3

weTe {7l code®r® A Rl Bol iR, (o083 CRER ol SemR wg
390 :

class MyStudent
{ int Studentld =101
char Name[25];
public :
MyStudent( ) {}
void Register( ) {cin>>Studentld; gets(Name);}
void Display() {cout<<Studentld<<“"<<
Name<<endl;}
5
void main()
{ MyStudent MS;
Register MS( );
MS.Display( );

3

(b} Answer the questions (i) and (i) after going through the
following class :

ol class(OR fofes (i) s (i) 2w Tes i

class interview

{
int month;
public:
Interview (int y) {month = y;} || Constructor 1
Interview (Interview &t); || Constructor 2
5

(i) Create an object, such that it invokes Constructor 1. 1
bl object create 341 ACS 2 Constructor 1 invoke ¥ |

(i) Write complete definition for Constructor 2. 2
Constructor 23 & 7&“"14 4 Tl |
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(¢} Define the constructors for the following definitions : 3
Soq BB ES constructoryiTR o 91
Class A {
int x;
float y;
public :
A (int, float);
5
Class B : public A
{

public :

%

(d) Comment on the efficiency of linear search and binary
search in relation to the number of elements in the list
being searched. 3

List @378 21 oA Y9 ff6® Listi search 391 @ linear
search ¥ binary searchd wFoR °[¥® W57 32 |

Or / 5311

Write a function in C++, which accepts an integer array
and its size as parameter and rearranges the array in
reverse. 3

OG RIF &E Bl OF WA size, parameter Bl a5 FR
0O SCEBILE 7 TRRE AT C++© B function B |
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{e) What is the difference between an array and a stack housed
in an array? Why is stack called a LIFO data structure?
1+2=3

9Bl *BE WF 9B W e stack GBF WGF AN Fe Stack
95 ¥ LIFO data structure jﬁ! CFI 37 2

Or / 941

Given the following class :

519 class(! @ Ak -

char * msg [ | = {foverflow”, “underflow”};
class Stack
{
int top,
stk [5];
void err_rep(inte_num) {cout<<msgle_num]|;}
public :
void int{) {top = 0;}
void push (int);
void pop( );

Define pop outside the stack. In your definition, take care
of underflow condition. Function pop has to invoke err_rep
to report overflow. 3

Stacky RS pop define FA | Definition® underflow
conditiond #f$ FRYFS! SEE 931 | Overflow report I99 I
pop functiond err_rep invoke 333 =144 |

C16/36 ( Turn Over )




(8)

() Explain the term key’. Name the four types of keys. 1+2=3

‘Key’ *mib 1 F41 | 5IR4999 key 9 =19 ey |
-Or / %1

Explain the three types of data models available for
database systems. 3

Database systemd I3 f5F499% data model 7125 <71 |

{g) Differentiate between data definition language and data
manipulation language. 3

Data definition language W data manipulation
languaged W& A1y 7o |

Or / %31

Write an SQL command to create a table (ITEM) with these
attributes : 3

©eTS [Tl attribute™zed 94 table (ITEM) create $R7 A1 G
SQL command &1 :

Itemcode integer
Description char(25)
Price float(5, 2)
Qty integer

Set the Itemcode as the primary key of the table. Any
attribute should not allow NULL values.

Itemcode( table¥"d primary key 5 set 3911 R/ &
attribute-9 NULL value allow ¥R «T=1Cs! |
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(h) Describe the three basic types of cables. 3
fNERR o1 cable ey 3961 391 |

Or / 91
Write short notes on the following : 3
ST HACARe vy Gt o
il Repeater
(i1) Bridge

{iii) Router

4. Define a class Candidate in C++ with the following description: 4
T=S 73 IR OIce C++-5 @l class Candidate define 37

Private members :

e A data member RNo (Registration Number) of type long
A data member Score of type float

A data member Name of type string

A data member Remarks of type string

A member function AssignRem( ) to assign Remarks as per
the Score obtained by a candidate. Score range and the
respective Remarks are shown as follows :

Score Remarks
>=50 Selected
Less than 50 Not selected

Public members :

e A function ENTER() to allow user to enter values for RNo,
Name, Score and call function AssignRem() to assign the
remarks.

e A function DISPLAY() to allow user to view the content of
all data members.
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Or / &34l

Consider the following declaration and answer the questions
given below : 4

TeTe Al class(hl o1 R 2piEry Seg o) -

class vehicle
{ private :
int wheels;
protected :
int passenger;
public
void inputdata (int, int);
void cutputdata();
|5
class heavy vehicle : protected vehicle
{ int diesel petrol;
protected :
int load;
public :
void readdata {int, int);
void writedata ();
I

class bus : private heavy vehicle

{
char make [20];
public :
void fetchdata(char);
void displaydata( );
%

(a) Name the base class and derived class of the class
heavy_vehicle.

heavy_vehicle class(BH base class W@ derived class¥ F
Eaill
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(b) Name the data member(s} that can be accessed from
function displaydata( ).

displaydata( ) ¥ 791 access IQ 71 data member(792)9
1 o o

(c) Name the data member(s) that can be accessed by an object
of bus class.

bus class ¥ objectd access FRI *Fl data member(>Hz)T =Y
T |

(d) Is the member function outputdata() accessible to the
objects of heavy vehicle class?

heavy vehicle class¥ objectd WA outputdata() ool
accessible 2H[( ?

5. Write four advantages of inheritance. ' 4
Inheritanced BIRB! R4 foran |
Or / F41
Write any four characteristics of destructor. 4
Destructord & (G BIRG! GaMES fora |

6. Write two similarities and two differences between queues and
stacks. ==

Queue HF stackd W& K5I G S Y51 =17 &7y |
Or / 9241

Write a C++ function that searches a given ITEM in an array
using linear search technique. If the item is found, it should
return its position in the array, otherwise it should return -1
(minus one). 4
«o1 ITEM T 2if6ea @ «b1® linear search J<2K ¥ search IR
AE 9B C++ function &1 | IR itemdBr RO 1/, *BEHS ST F=H!

43 #s S HPAR 2 ~1 (minus one) ™ AT |
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7. Differentiate between tree and bus topologies of network. :
Network ¥ tree SIF bus topology I I& #1237 woefiar |

Or / %<1

Differentiate between GSM and CDMA. ¢
GSM ¥F CDMA 9 TI&1 2123 %o |
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8. Answer the following questions : 1x10=10
o] 2P Teq i

(a) What is the difference between ‘@’ and “a” in C++?
C++% ‘a’ IIF “‘a’’3 Tee 19 2

(b) What is meant by a floating constant in C++?
C++S floating constant {ﬁ'@l = JErmH ?

fc) What is the effect of absence of ‘break’ in ‘switch-case’
statement?

‘Switch-case’ statements ‘break’s SIifeT F1© ¢ 282

{d) What is nested class?

Nested class 2

(e) What is data type?
Data type 62

() What is destructor?
Destructor &2

(g) What are the two searching techniques available?

72 4F[S searching technique 2

(h) Define TOP.
TOP 3 gz o |

(i) What does the modulus operator %’ do?

Modulus operator ‘%’- & 2

(j) What is topology?
Topology 2
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9. Answer the following questions : 2x10=20

T PPTIR TaT iy

(@) What is the function of logical operator?
Logical operator 3 5 &5 2

(b) What will be the result of the following two €exXpressions if
1=10 initially?

ARIEFEIE i =10 ¢ o 1 751 e o 279 0
) ++i<=10
(i) i++<=10
(c/ What is the significance of access specifiers in a class?
Class 9oTs access specifier § SleoRf 2

(d) Differentiate between infrared and microwave
transmission.

Infrared 9% microwave transmissions NE@ 1y B4y |

(e) Write the first and the last values of ’ ocutput by the
following loop :
=TS Al 1oopd FeTs (oI 4 9 237 W GESRICRDRE R
n=10;
1=
while (++1 < n)
cout <<i << endl;

() Define a two-dimensional array A having 3 rows, 4 columns
and stores int data type. How many elements are there in
the array so defined?

BT A TEET AT R Tl IR 1R ke 3 e e ey 4 )0
int data type SKI%I 9 | T define 71 REOR SAm R
237
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(g) What are the three visibility modes? What is the default
mode to the members of a class?

fef o193 visibility mode & &9 Classy memberi2d default
mode 52

(h) Differentiate between linear queue and circular queue,

Linear queue 9% circular queues e 2N =37 |

(i} Write two advantages of Internet.

Internet I 701 Ry B |

() What is MODEM? Name the different types of MODEM.
MODEM 7 R4f%q 25 MODEM 3 =% i<y |

10. (a) Explain the difference between ‘while’ and ‘do-while’ loops = 3
‘while’ 9 ‘do-while’ loopd &= 1197 A 54y
(b) Write briefly about LAN, MAN and WAN. 3
LAN, MAN SIF WAN ¥ {33 5333 ford |

(c) Consider the following class declaration and answer the
questions given below 3

Wﬁmclassﬁﬁ%www:

class Smallobj
{ private :
int some, more;
void err _1()
{ cout << “error”;}
public :
void xdata (int d)
{ some =d;
more =d + +;}
void ydata( )
{ cout <<some<< “” <<more;}

i
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() Write the name that specifies the above class.
SIS class(GR =1 fors |

(W) Write the data of the class with their access scope.
Access scoped (ICe class(BR data@R &)1 |

(i) Write all the member functions of the class along with
their access scope.

Access scoped (Tt® class(BF RN member function
o 1

(d) Write the full form of the following terms : 3
woo fwlll Wﬁ% e fore
(i} HEGE
(i) CDMA
(i) GSM

(¢) What is the difference between protected and private
members? Explain with example. 3
Protected ¥ private memberd N&re NI 52 THIH2 W10
41|

(/) What is constructor? Write any four of its special
characteristics. 3

Constructor &7 37 R @Ic w101 [Resw ¢af¥i8y o 1

{g) What are arithmetic operators in C++? Distinguish between
unary and binary arithmetic operators. Give examples. 3

C++3S arithmetic operator2 & $? Unary ¥ Binary
arithmetic operator 9 & 212 6 2 Tarzae fra

(h) Give postfix form of the following expression : 3

were Wl PRI postfix s &1
—a+b*cT(d=*e)/f

C16/36 ( Continued )



( 17 )

11. Define a class Book with the following specifications : 4
©eTS TCHY 1 IR 711 <GBl class Book F 5@ By -

Private members—

Book No—integer type

Book Title—20 characters

* Price—float(price per copy)

Total cost()— A function to calculate the total cost of
N number of copies, where N is passed
to the function as argument

Public members—

INPUT( )—Function to read Book No, Book Title, Price

PURCHASE( }—Function to ask the user to input the
number of copies to be purchased.
It invokes Total cost() and print the
total cost to be paid.

12. Write the steps to search 54 by using binary search in the
following array ABCJ[7] : 4
w1 7 %= ABC[7](B binary searchd e 54% I ShRieqq
step(d =137 :

70 | 65 | 62 | 58 | 56 | 54 | 50
0 I 2 3 4 S 6

Or / 931

Explain ‘best case’ time complexity of insertion or bubble sort. 4
Insertion 41 bubble sort § ‘best case’ time complexity 3 34 |

13. Write a program in C++ to print the factorial of a given number
using a constructor. 4

Constructor €[ R Ay GBF factorial UfE® wofRg Q9 g0 C++
a’cay foran |
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14. Name different layers of OSI reference model. 4
OSI reference model 3 Rfeg BRI AN fo |

Or / 941

Differentiate between tree and bus topologies of network. 4

Network ¥ tree 9% bus topology I W& 212 o= |

* %k %k
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